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QUESTION 1

Which type of high availability server maintains a backup copy of the entire database that applications can access
immediately in the event of a catastrophic failure of the primary server?

A. Remote Primary Server (RPS)

B. Remote Standalone Secondary (RSS)

C. Continuous Log Restore (CLR)

D. High Availability Data Replication (HDR) Secondary

Correct Answer: D

QUESTION 2

What is an advantage of using Multi-Index scan?
A. Multiprocessor support

B. Multiple disk drive support

C. Index keys are stored in compressed format
D. Less indexes need to be defined on a table

Correct Answer: D

QUESTION 3

Which of the following statements is True about the Onstat utility?

A. It cannot be used to retrieve locking information.

B. It consume a lot of the system\\'s resources andshould be used infrequently.
C. It doesn\\'t place any locks on shared memory.

D. It can be used to view table data.

Correct Answer: C

QUESTION 4
Which of the following configurations would suggest that an Informix server is tuned for a DSS workload?

A. PDQPRIORITY is set to the value "HIGH".
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B. There are more transactions than queries.
C. Database or table logging is turned on.
D. A task is configured to capture Checkpoint data every two hours.

Correct Answer: A

QUESTION 5

Which of the following statements about the level of compatibility between the backups produced by ontape and ON-Bar
is true?

A. You can create a backup with ON-Bar and restore it with ontape, but not vice versa.
B. You can create a backup with ontape and restore it with ON-Bar, but not vice versa.

C. The respective backups are not compatible; you cannot create a backup with ontape and restore it with ON-Bar, or
vice versa.

D. The respective backup tapes are compatible; you can create a backup with ontape and restore it with ON-Bar, and
vice versa.

Correct Answer: C
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